
SHIFT CABLE ASSEMBLY
MODEL AIR,  AN, AP, U4-4 SUZUKI

REMOTE STEERING
1318

REF QTY PART NO. DESCRIPTION
1 1 547.2
2 1 156
3 2 542
4 2 543
5 2 561.1
6 2 635
7 2 572
8 2 619
9 2 621.1

10 2 553.2
11 1 585
12 1 623

CABLE 5 FT MOR 33C SUPREME 
BRACKET CABLE SUPPORT 
SHIM MORSE A035777
CLAMP CHRYS 154317
FIL HD SLOTTED 10-24 X 3/4
1/4 WASHER AN960C416
BOLT HEX HD 1/4-20 X 5/8 
NYLOC 10-24
HEX NUT 10-32 JAM
BALL END 1/4X10-32 CABLE 
BOLT HEX HD 1/4-20 X 1 1/4 
NYLOC 1/4-20


